3
£
3 %w m.cmu_
N £ €3 (T S1.U
M T WW y <
— < <
g |3 S2
Z 7 m WO\“\\\.\U_ ,% -
- ] ®) 53 4 ° |z9|E
- < J ] 23R a |s—|=20
.\ a X V | ® g* - 5 € |®
) = ! - 2
S 8 S @ iz & S kg%
R [ ¥ g8 | o £ 331§3
| g 5 £ o e | € — 2 € 5o
- S o L 93 p Q x 5 >
M “ = S | ¥ YE | o T g |2
- f.. = R OS 4] o RTE = .OH
. ) <| w £ T s el S5o3% o
~ { z z 55| v X S cisS> o
y / 7] > -] SE < R De S
\ =g 22 |9 MN €3S EF |
%v ! 58 g z¢ 20| gic| 88 E 2 9
/ a g2 MmMMAunu.amr.wW .
o L & a2 SO TexmO >4
= < > > o

I
b

— o

‘‘‘‘‘‘ 3}

5

H:1100

Ad spennugjafa BVK
sja teikningu nr.A R503

teikningu nr. A R506

A bjslluras &
D H:8000

Bmp-sny g-snuenodisiely-Gi-1 L g90\(HRUNIQAQINBUNIG) GHEHSIOUSH-DuNerded-1 LR90V L LBIO\GO0ZVA




